

CITY OF GILLETTE GILLETTE MADISON PIPELINE PROJECT (07EN58)

CONTRACT #4B, #4C, #4D & #4F BID TABULATION

Bid Opening: 2:00 pm MDT, City Purchasing Division, 800 North Burma Ave, Gillette, WY 82716

PRE-QUALIFIED BIDDER	BID	ADDENDUM ACKNOWLEDGED?		BIC	O SCHEDULE 1 BID SCHEDULE 2		BID SCHEDULE 3	TOTAL BID AMOUNT	ADD ALTERNATE 1	42-INCH PIPELINE	# OF	
	BOND?	1	2	3					(BID SCHEDS 1 + 2 + 3)		MATERIAL?	CREWS
COP Wyoming LLC	Х	Х	Х	Х	\$	1,859,091.00	\$ 259,571.00	\$ 48,135,515.00	\$ 50,254,177.00	\$ 985,785.00	coated steel	2
Garney Companies Inc.	Х	Х	х	Х	\$	1,954,836.00	\$ 200,295.00	\$ 44,609,736.25	\$ 46,764,867.25	\$ 1,342,381.00	coated steel	4
S. J. Louis Construction, Inc.	х	Х	х	Х	\$	1,715,350.00	\$ 200,205.00	\$ 41,032,550.00	\$ 42,948,105.00	\$ 912,801.00	coated steel	3
TIC - The Industrial Company Wyoming, Inc.	х	Х	х	Х	\$	3,338,664.00	\$ 848,749.00	\$ 48,286,865.00	\$ 52,474,278.00	\$ 1,206,095.00	coated steel	4
Whitaker Construction Co.	х	Х	Х	Х	\$	1,661,164.00	\$ 219,841.00	\$ 49,022,665.00	\$ 50,903,670.00	\$ 1,475,955.00	coated steel	3

City of Gillette Gillette Madison Pipeline Project Contract #4B, #4C, #4D, and #4F - Potable Transmission Waterline to WYODAK

Bid Tabulation Summary

Raca	Rid	-Ilmit	Price	Schadula 1	

Description	,				COP{ V	Wyoming	Ga	rney	SJ Louis		TIC Wyoming		Whitaker	
Section Control Cont	Bid Item	Description	Quantity	Unit	Unit Price (\$)	Total Price (\$)								
1965	1020.01	Mobilization	1	LS	\$380,000.00	\$380,000.00	\$200,000.00	\$200,000.00	\$100,000.00	\$100,000.00	\$66,000.00	\$66,000.00	\$102,000.00	\$102,000.00
15-000 Proceedings 1 1 1 1 1 1 1 1 1	1020.02	Contract Bonds	1	LS										\$11,750.00
Section Processor Section 1			_											\$33,000.00
2000 2000			_											
		,												
		-												\$200.00
														\$550.00
2002-04-1		·	1											\$225.00
2000 2000			100		\$10.00	\$1,000.00	\$3.00	\$300.00	\$2.00	\$200.00	\$2.00	\$200.00	\$2.00	\$200.00
22000		Surplus Material Disposals			\$5.00	\$20,075.00	\$8.00	\$32,120.00	\$3.00	\$12,045.00	\$2.00	\$8,030.00	\$5.00	\$20,075.00
220.00 Control Person Pe	2220.03	Utility Line Crossing	8	EA	\$1,600.00	\$12,800.00	\$1,000.00	\$8,000.00	\$500.00	\$4,000.00	\$1,750.00	\$14,000.00	\$450.00	\$3,600.00
222500 Post Care Per Berding 102 710 110	2220.04	Dewatering	1	LS	\$2,000.00									\$5,500.00
2270.0 mat Face Phys Indexis 1.45 1.	2220.05	Exploratory Excavation (Field Verifications)	1	LS										\$1,250.00
227.03	2225.01	Install Type 1 Pipe Bedding	_											\$146,069.00
27700 Dec De			_											
2000 December 1,5000 CP 32.00 25.01.016 52.00 35.01.016 52.00 35.01.016 52.00 35.01.016 52.00 35.01.016 52.00 35.01.016 52.00 35.01.016 52.00 35.01.016 52.00 35.01.016 52.00 35.01.016 52.00 35.01.016 52.00 35.01.016 52.00 35.01.016 52.00 35.01.016 52.00 35.01.016 52.00 35.01.016 52.00 35.01.016 52.00 35.00.016 52.00 35.00.016 52.00 35.00.016 52.00 35.00.016 52.00 35.00.016 52.00 35.00.016 52.00 35.00.016 52.00 35.00.016 52.00 35.00.016 52.00 35.00.016 52.00 35.00.016 52.00 35.00.016 52.00 35.00.016 52.00 35.00.016 52.00 35.00.016 52.00 35.0			_											
200.00														\$48,945.00
2512 Secure of Repairs Angland Agrocoms S EA \$31,000.00 \$3		· ·												\$26,104.00
2003.1 heart Clauser The Filt Edition 1.56 LF 5380.0 \$1,800.0 \$1,800.0 \$13,000.0 \$13														\$11,200.00
2003.11 Head CLAR Cost Owns			_											\$16,320.00
200.00 beat File Medican Computer 4 54,000.00 \$34,000.00 \$40,000.00 \$	2530.15	Install CLSM Cut Off Walls	_	EA	\$840.00	\$5,040.00	\$1,430.00	\$8,580.00	\$4,000.00	\$24,000.00	\$750.00	\$4,500.00	\$600.00	\$3,600.00
2000.000 Instit Vision May No. Section	2530.16	Install Concrete Drainage Apron	1	LS	\$4,200.00	\$4,200.00	\$3,750.00	\$3,750.00	\$750.00	\$750.00	\$6,000.00	\$6,000.00	\$1,200.00	\$1,200.00
	2645.01	Install Fire Hydrant Complete	4	EA	\$6,200.00									\$19,600.00
2005.010 Insula of Water Man - Unreasoned 2,070 LF	2665.0104	Install 4" Water Main - Restrained	120	LF										\$3,480.00
2000.01010	2665.0106	Install 6" Water Main - Restrained	86											\$2,838.00
2865.01712														
2505.0072 Instalt IZ* Water Man - Restricted 1,555 UF SCL00 SIL2,61000 SSU00 SSU00 SSU00 SSU000 SSU0000 SSU000 SSU000 SSU000 SSU000 SSU000 SSU000 SSU000 SS			_											
2005.0006 legal of End of Line Plug														
1866.0000														\$290.00
2685.037200 casal #F End of Live Prag														\$360.00
2665.03700 most 12° 95° 12° 12° 10° most 12° 95° 12° 12° 12° 12° 12° 12° 12° 12° 12° 12		•	_		\$670.00	\$670.00	\$470.00	\$470.00	\$450.00	\$450.00	\$305.00	\$305.00	\$440.00	\$440.00
265.031200		· ·	1		\$1,290.00	\$1,290.00	\$2,250.00	\$2,250.00	\$1,200.00	\$1,200.00	\$3,600.00	\$3,600.00	\$1,325.00	\$1,325.00
265.05120	2665.031206	Install 12"x6"x12" Tee	3	EA										\$3,900.00
2865.000		Install 12"x8"x12" Tee	1											\$1,475.00
2865.010 Install 12"x11 14 EBow														
Seed														\$19,800.00
2665.0912 Install 12"/250 Except														\$9,900.00
2665.1100 Instalt 6' Gale Valve														\$2,800.00
2665.110 Install 8° Gale Valve	2665.1104	Install 4" Gate Valve	1	EA										\$1,850.00
2665.112 Install 12° Gate Valve 6 E E S3,200.00 \$19,200.00 \$3,600.00 \$21,600.00 \$3,900.00 \$23,400.00 \$2,700.00 \$16,200.00 \$4,000.00 \$24,000.00 \$2,														\$8,400.00
2865.18 Connect to Existing Water Main														\$13,000.00
2665.292 Casing Pipe - Jacking or Boring Feb.														\$2,200.00
2665 2000 Install 8" Pressure Reducer Valve		•				\$64,000.00		\$48,000.00		\$60,000.00		\$47,500.00	\$13,500.00	\$54,000.00
2665.229 20° Casing Pipe - Jacking or Boring 65 LF 5430.00 \$39,130.00 \$39,000 \$81,900.00 \$45,000 \$40,950.00 \$1,650.00 \$150,150.00 \$655.00 \$57,785 \$2665.29 \$10,000 \$10			_											\$50,000.00
2665-2292 24" Casing Pipe - Jacking or Boring 91 LF S43.00 S39,130.00 S90.00 S81,900.00 S40,000 S40,000 S15,015.00 S635.00 S57,785 2665-27 Install Ulily Marker 12 EA S25.00 S300.00 S31,000.00 S30,000 S35.00 S42.000 S85.00 S10,200.00 S12,000.00 S10,000.00 S10,000.0														\$40,700.00
2665.28 Install Utility Marker 12 EA \$25.00 \$300.00 \$300.00 \$33,600.00 \$35.00 \$420.00 \$85.00 \$1,020.00 \$125.00 \$1,000.00 \$18,000.00 \$20,000.00 \$18,000.00 \$20,000.00 \$18,000.00 \$20,000.00 \$18,000.00 \$20,000.00 \$18,000.00 \$20,000.00 \$18,000.00 \$20,000.00		* ' * *	_											\$40,950.00 \$57,785.00
2665.28 Blow-off Valve 2 EA \$10,500.00 \$21,000.00 \$11,000.00 \$22,000.00 \$39,000.00 \$18,000.00 \$35,500.00 \$35,500.00 \$39,000.00 \$10,600.00 \$40,250.00 \$35,500.00														\$1,500.00
2665.28		,												\$18,000.00
2725.0726 Install 87 Culvert 127 LF 541.00 55.207.00 560.00 57.620.00 550.00 550.00 559.00 57.493.00 588.00 511.176			1		\$34,000.00	\$34,000.00	\$45,000.00	\$45,000.00		\$40,000.00	\$35,500.00	\$35,500.00		\$40,250.00
2725.078 Install 36° Culvert 20 LF \$106.00 \$2,120.00 \$80.00 \$1,600.00 \$60.00 \$1,200.00 \$72.00 \$1,44.00 \$90.00 \$1,800 \$2725.078 Install 80° Culvert \$20 LF \$425.00 \$8,500.00 \$200.00 \$4,000.00 \$350.00 \$70,000 \$320.00 \$6,400.00 \$70,000 \$14,000 \$14,000 \$2725.078 Install 80° Culvert Flared End Section 1 EA \$5,300.00 \$1,000.00 \$1,000.00 \$1,000.00 \$6,700.00 \$9,000.00 \$9,000.00 \$7,500.00 \$7,500.00 \$7,500 \$15,000 \$1,000.00	2665.3	Install Rigid Board Insulation												\$14,960.00
2725.079 Install 80° Culvert 20 LF S425.00 S8,500.00 S200.00 S4,000.00 S350.00 S7,000.00 S320.00 S6,400.00 S7,500.00 S7,50			_											\$11,176.00
2725.128 Install 80° Culvert Flared End Section 1 EA \$5,300.00 \$5,300.00 \$1,000.00 \$1,000.00 \$6,700.00 \$6,700.00 \$9,000.00 \$7,500.00 \$7,														\$1,800.00
2805.02 Install Sign 1 EA														\$7,500.00
2805.02 Removal of Sign 1 EA \$270.00 \$270.00 \$250.00 \$250.00 \$100.00 \$100.00 \$275.00 \$275.00 \$50.00 <t< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>\$150.00</td></t<>														\$150.00
2900.05 Straw Mulch 25 TN \$200.00 \$5,000.00 \$250.00 \$6,250.00 \$500.00 \$12,500.00 \$550.00 \$13,750.00 \$325.00 \$8,125		Removal of Sign	_											\$50.00
2900.16 Install Fence (Wire) 100 LF \$21.00 \$2,100.00 \$6.00 \$600.00 \$5.00 \$500.00 \$21.50 \$2,150.00 \$10.00 \$1,00														\$6,800.00
13900.01 Cathodic Protection System 1 LS \$46,100.00 \$32,000.00 \$32,000.00 \$32,000.00 \$25,000.00 \$147,000.00 \$147,000.00 \$15,000.00 \$15,000.00 \$15,000.00 \$15,000.00 \$10,														\$8,125.00 \$1,000.00
1 LS 15,000.00 Signature 1 LS 15,000.00 Signat			100											\$55,000.00
			1											\$110,000.00
	10000.5					\$1,850,001,00		\$1 954 836 00		\$1.715.350.00		\$3 338 664 00*		\$1,661,164.00

City of Gillette Gillette Madison Pipeline Project Contract #4B, #4C, #4D, and #4F - Potable Transmission Waterline to WYODAK

Bid Tabulation Summary

Base Bid -Unit Price Schedule 2

			_		Base Bid	-Unit Price Scheo	dule 2						
				COP{	Wyoming		Garney	S.	Louis	TIC	Wyoming	W	hitaker
Bid Item	Description	Quantity	Unit	Unit Price (\$)	Total Price (\$)	Unit Price (\$)	Total Price (\$)	Unit Price (\$)	Total Price (\$)	Unit Price (\$)	Total Price (\$)	Unit Price (\$)	Total Price (\$)
1020.01	Mobilization	1	LS	\$79,000.00	\$79,000.00	\$40,000.00	\$40,000.00	\$1,000.00	\$1,000.00	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00
1020.02	Contract Bonds	1	LS	\$500.00	\$500.00	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00	\$2,100.00	\$2,100.00	\$1,725.00	\$1,725.00
1500.11	Construction Stormwater Management	1	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$1,500.00	\$1,500.00	\$4,500.00	\$4,500.00	\$6,600.00	\$6,600.00
1510.01	Construction Signing and Traffic Control	1	LS	\$3,400.00	\$3,400.00	\$6,000.00	\$6,000.00	\$8,000.00	\$8,000.00	\$6,250.00	\$6,250.00	\$4,500.00	\$4,500.00
2220.03	Utility Line Crossing	14	EA	\$300.00	\$4,200.00	\$500.00	\$7,000.00	\$500.00	\$7,000.00	\$270.00	\$3,780.00	\$300.00	\$4,200.00
2220.04	Dewatering	1	LS	\$1.00	\$1.00	\$2,000.00	\$2,000.00	\$1.00	\$1.00	\$80,000.00	\$80,000.00	\$2,000.00	\$2,000.00
2220.05	Exploratory Excavation (Field Verifications)	1	LS	\$2,200.00	\$2,200.00	\$5,500.00	\$5,500.00	\$3,000.00	\$3,000.00	\$4,500.00	\$4,500.00	\$1,250.00	\$1,250.00
2280.01	Place Topsoil	197	CY	\$2.00	\$394.00	\$2.00	\$394.00	\$1.00	\$197.00	\$2.00	\$394.00	\$9.00	\$1,773.00
2280.03	Stockpile Topsoil	197	CY	\$2.00	\$394.00	\$2.00	\$394.00	\$1.00	\$197.00	\$2.00	\$394.00	\$4.00	\$788.00
2665.1415	Reconnection of Existing 1.5" Water Service	5	EA	\$415.00	\$2,075.00	\$1,000.00	\$5,000.00	\$400.00	\$2,000.00	\$850.00	\$4,250.00	\$400.00	\$2,000.00
2665.1515	Install 1.5" Water Service	1,483	LF	\$25.00	\$37,075.00	\$29.00	\$43,007.00	\$30.00	\$44,490.00	\$17.00	\$25,211.00	\$25.00	\$37,075.00
2665.17	Install Water Meter Pit	6	EA	\$8,000.00	\$48,000.00	\$1,100.00	\$6,600.00	\$7,000.00	\$42,000.00	\$4,250.00	\$25,500.00	\$5,800.00	\$34,800.00
2665.2015	Install 1.5" Pressure Reducer Valve	2	EA	\$470.00	\$940.00	\$1,700.00	\$3,400.00	\$9,000.00	\$18,000.00	\$3,250.00	\$6,500.00	\$900.00	\$1,800.00
2665.2504	4" Casing Pipe - Jacking or Boring	130	LF	\$138.00	\$17,940.00	\$130.00	\$16,900.00	\$80.00	\$10,400.00	\$2,000.00	\$260,000.00	\$265.00	\$34,450.00
2665.2506	6" Casing Pipe - Jacking or Boring	84	LF	\$173.00	\$14,532.00	\$170.00	\$14,280.00	\$100.00	\$8,400.00	\$1,500.00	\$126,000.00	\$250.00	\$21,000.00
2665.2508	8" Casing Pipe - Jacking or Boring	164	LF	\$200.00	\$32,800.00	\$180.00	\$29,520.00	\$110.00	\$18,040.00	\$1,500.00	\$246,000.00	\$250.00	\$41,000.00
2665.29	Install End of Line Large Water Meter Vault and Appurtenances	1	LS	\$8,900.00	\$8,900.00	\$10,000.00	\$10,000.00	\$30,000.00	\$30,000.00	\$19,000.00	\$19,000.00	\$3,500.00	\$3,500.00
2900.05	Seeding	0.4	AC	\$1,800.00	\$720.00	\$625.00	\$250.00	\$1,200.00	\$480.00	\$5,300.00	\$2,120.00	\$2,200.00	\$880.00
2900.08	Straw Mulch	1	TN	\$200.00	\$200.00	\$250.00	\$250.00	\$500.00	\$500.00	\$2,250.00	\$2,250.00	\$500.00	\$500.00
13900.01	Cathodic Protection System	1	LS	\$3,800.00	\$3,800.00	\$2,300.00	\$2,300.00	\$3,000.00	\$3,000.00	\$20,000.00	\$20,000.00	\$5,000.00	\$5,000.00
	Total Schedule 2 Base Bid Price	\$259,571.00		\$200,295.00		\$200,205.00		\$848,749.00*		\$219,841.00			

^{*}Mathematical error corrected per Article 14 of the Instructions to Bidders. Corrections are highlighted in yellow

City of Gillette Gillette Madison Pipeline Project Contract #4B, #4C, #4D, and #4F - Potable Transmission Waterline to WYODAK

Bid Tabulation Summary

Race	Rid	-Unit	Price	Scho	aluh	3
Dase	Diu	-UIIII	riice	Sche	uuie	J

	COP{ Wyoming						arney	SJ Louis		TIC Wyoming		Whitaker	
Bid				001	11 youning			53	Louis			""	Huici
Item	Description	Quantity	Unit	Unit Price (\$)	Total Price (\$)								
1	Mobilization	1	LS	\$1,400,000.00	\$1,400,000.00	\$1,500,000.00	\$1,500,000.00	\$1,050,000.00	\$1,050,000.00	\$1,435,000.00	\$1,435,000.00	\$870,000.00	\$870,000.00
2	Contract Bonds and Insurance	1	LS	\$351,000.00	\$351,000.00	\$165,000.00	\$165,000.00	\$50,000.00	\$50,000.00	\$310,000.00	\$310,000.00	\$230,000.00	\$230,000.00
3	Project Identification Signs	3	EA	\$1,300.00	\$3,900.00	\$2,000.00	\$6,000.00	\$1,300.00	\$3,900.00	\$2,000.00	\$6,000.00	\$850.00	\$2,550.00
4	Traffic Control	1	LS	\$265,000.00	\$265,000.00	\$300,000.00	\$300,000.00	\$125,000.00	\$125,000.00	\$60,000.00	\$60,000.00	\$460,000.00	\$460,000.00
5	Development, Implementation, conformance and compliance with WYDEQ construction stormwater permit and associated stormwater pollution prevention plan	1	LS	\$116,000.00	\$116,000.00	\$120,000.00	\$120,000.00	\$75,000.00	\$75,000.00	\$10,000.00	\$10,000.00	\$400,000.00	\$400,000.00
6	Trench Stabilization Material	12350	TON	\$39.00	\$481,650.00	\$1.00	\$12,350.00	\$20.00	\$247,000.00	\$22.00	\$271,700.00	\$32.00	\$395,200.00
7	Underground Utility Line Crossing	48	EA	\$1,000.00	\$48,000.00	\$1,000.00	\$48,000.00	\$1,000.00	\$48,000.00	\$1,200.00	\$57,600.00	\$700.00	\$33,600.00
8	Underground Utility Line Crossing 18-inches or Greater	19	EA	\$1,300.00	\$24,700.00	\$2,000.00	\$38,000.00	\$1,000.00	\$19,000.00	\$2,100.00	\$39,900.00	\$1,800.00	\$34,200.00
9	CLSM Cut off Wall	116	EA	\$2,400.00	\$278,400.00	\$1,500.00	\$174,000.00	\$4,000.00	\$464,000.00	\$1,750.00	\$203,000.00	\$2,275.00	\$263,900.00
10	54-inch Waterline and Appurtenances - Restrained	100	LF	\$500.00	\$50,000.00	\$800.00	\$80,000.00	\$300.00	\$30,000.00	\$480.00	\$48,000.00	\$810.00	\$81,000.00
11	42-inch Waterline and Appurtenances - Restrained	38625	LF	\$319.00	\$12,321,375.00	\$215.13	\$8,309,396.25	\$254.00	\$9,810,750.00	\$295.00	\$11,394,375.00	\$305.00	\$11,780,625.00
12	42-inch Waterline and Appurtenances - Unrestrained	78000	LF	\$285.00	\$22,230,000.00	\$215.13	\$16,780,140.00	\$251.00	\$19,578,000.00	\$286.00	\$22,308,000.00	\$245.00	\$19,110,000.00
13	36-inch Waterline and Appurtenances - Restrained	50	LF	\$400.00	\$20,000.00	\$1,500.00	\$75,000.00	\$275.00	\$13,750.00	\$500.00	\$25,000.00	\$845.00	\$42,250.00
14	30-inch Waterline and Appurtenances - Restrained	20	LF	\$560.00	\$11,200.00	\$600.00	\$12,000.00	\$400.00	\$8,000.00	\$300.00	\$6,000.00	\$820.00	\$16,400.00
15	42-inch Butterfly Valve and Vault	23	EA	\$145,400.00	\$3,344,200.00	\$260,000.00	\$5,980,000.00	\$120,000.00	\$2,760,000.00	\$132,500.00	\$3,047,500.00	\$239,000.00	\$5,497,000.00
16	36-inch Butterfly Valve and Vault	2	EA	\$110,000.00	\$220,000.00	\$175,000.00	\$350,000.00	\$90,000.00	\$180,000.00	\$68,000.00	\$136,000.00	\$175,000.00	\$350,000.00
17	42-inch Air Release/Vacuum Valve and Vault	23	EA	\$38,400.00	\$883,200.00	\$40,000.00	\$920,000.00	\$30,000.00	\$690,000.00	\$26,000.00	\$598,000.00	\$31,000.00	\$713,000.00
18	Transmission Main Blow Off Assembly	36	EA	\$16,400.00	\$590,400.00	\$25,000.00	\$900,000.00	\$13,000.00	\$468,000.00	\$33,000.00	\$1,188,000.00	\$15,000.00	\$540,000.00
19	Access Manway	2	EA	\$36,600.00	\$73,200.00	\$75,000.00	\$150,000.00	\$30,000.00	\$60,000.00	\$22,500.00	\$45,000.00	\$70,000.00	\$140,000.00
20	60-inch Bored Steel Casing	1261	LF	\$1,070.00	\$1,349,270.00	\$1,500.00	\$1,891,500.00	\$1,700.00	\$2,143,700.00	\$2,100.00	\$2,648,100.00	\$1,500.00	\$1,891,500.00
21	Asphalt Surface Restoration - 42-inch Pipeline	860	LF	\$170.00	\$146,200.00	\$200.00	\$172,000.00	\$150.00	\$129,000.00	\$95.00	\$81,700.00	\$180.00	\$154,800.00
22	Gravel Surface Restoration - 42-inch Pipeline	1170	LF	\$46.00	\$53,820.00	\$35.00	\$40,950.00	\$25.00	\$29,250.00	\$32.00	\$37,440.00	\$20.00	\$23,400.00
23	Asphalt Removal and Replacement of Road near STA 948+00	5500	SF	\$10.00	\$55,000.00	\$8.00	\$44,000.00	\$10.00	\$55,000.00	\$14.50	\$79,750.00	\$11.50	\$63,250.00
24	Asphalt Removal and Replacement of Road near STA 967+50	4500	SF	\$10.00	\$45,000.00	\$8.00	\$36,000.00	\$10.00	\$45,000.00	\$16.50	\$74,250.00	\$11.50	\$51,750.00
25	Rip Rap Erosion Protection	3900	SF	\$16.00	\$62,400.00	\$3.00	\$11,700.00	\$5.00	\$19,500.00	\$9.00	\$35,100.00	\$4.00	\$15,600.00
26	Seeding and Restoration	113200	LF	\$1.50	\$169,800.00	\$1.00	\$113,200.00	\$1.00	\$113,200.00	\$2.25	\$254,700.00	\$5.20	\$588,640.00
27	Cathodic Protection System	1	LS	\$514,300.00	\$514,300.00	\$500,000.00	\$500,000.00	\$250,000.00	\$250,000.00	\$1,000,000.00	\$1,000,000.00	\$390,000.00	\$390,000.00
28	Water Blending Station - STA: 585+67.77 (WA-1, ED-1 and ED-14)	1	LS	\$700,000.00	\$700,000.00	\$1,500,000.00	\$1,500,000.00	\$575,000.00	\$575,000.00	\$740,000.00	\$740,000.00	\$1,532,000.00	\$1,532,000.00
29	Moran Ranch/Cedar Hills Regional Stub - STA: 706+30.00 (WA-11 and ED-2)	1	LS	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$240,000.00	\$240,000.00	\$15,500.00	\$15,500.00	\$11,000.00	\$11,000.00
30	Rozet and Ward Creek Interconnect and Regional Stub - STA: 961+70.00 (WA-31 and ED-3)	1	LS	\$470,000.00	\$470,000.00	\$885,500.00	\$885,500.00	\$140,000.00	\$140,000.00	\$355,000.00	\$355,000.00	\$656,000.00	\$656,000.00
31	Jack Smith Road Interconnect - STA: 1080+70.00 (WA41 and ED4)	1	LS	\$130,000.00	\$130,000.00	\$253,000.00	\$253,000.00	\$90,000.00	\$90,000.00	\$120,000.00	\$120,000.00	\$177,000.00	\$177,000.00
32	Wessex Regional Stub and Interconnect - STA: 1296+25.00 (WA58 and ED5)	1	LS	\$45,000.00	\$45,000.00	\$69,000.00	\$69,000.00	\$150,000.00	\$150,000.00	\$17,000.00	\$17,000.00	\$53,000.00	\$53,000.00
33	Moorcroft Interconnect and Stub - STA: 1656+34.39 (WA87 and ED6)	1	LS	\$340,000.00	\$340,000.00	\$575,000.00	\$575,000.00	\$180,000.00	\$180,000.00	\$275,000.00	\$275,000.00	\$440,000.00	\$440,000.00
34	Chlorine Interconnect and 12-inch Distribution Piping – STA 2300+83.00 (WA-89 and ED-4)	1	LS	\$250,000.00	\$250,000.00	\$460,000.00	\$460,000.00	\$200,000.00	\$200,000.00	\$325,000.00	\$325,000.00	\$351,000.00	\$351,000.00
35	Remote Chlorine Residual Station - STA: 2302+04.00 (WA-89, ED-10, and ED-11)	1	LS	\$225,000.00	\$225,000.00	\$414,000.00	\$414,000.00	\$225,000.00	\$225,000.00	\$100,000.00	\$100,000.00	\$229,000.00	\$229,000.00
36	Pine Ridge Water Tanks Interconnect – STA 2376+03.69 (WA-95 and ED-7)	1	LS	\$230,000.00	\$230,000.00	\$529,000.00	\$529,000.00	\$225,000.00	\$225,000.00	\$273,000.00	\$273,000.00	\$441,000.00	\$441,000.00
37	Wells Tie-In and Interconnect – STA 2376+84.54 (WA-95 and ED-8)	1	LS	\$310,000.00	\$310,000.00	\$747,500.00	\$747,500.00	\$150,000.00	\$150,000.00	\$395,000.00	\$395,000.00	\$631,000.00	\$631,000.00
38	Pine Ridge Water Tanks Discharge Connection (WA-95 and ED-7)	1	LS	\$100,000.00	\$100,000.00	\$287,500.00	\$287,500.00	\$130,000.00	\$130,000.00	\$132,500.00	\$132,500.00	\$183,000.00	\$183,000.00
39	CLSM Installation at Owners Representative Discretion	1500	YD3	\$135.00	\$202,500.00	\$90.00	\$135,000.00	\$175.00	\$262,500.00	\$92.50	\$138,750.00	\$120.00	\$180,000.00
	Total Schedule 3 Base Bid Price		\$48,135,515.00		\$44,609,736.25		\$41,032,550.00		\$48,286,865.00*		\$49,022,665.00		

City of Gillette Gillette Madison Pipeline Project

Contract #4B, #4C, #4D, and #4F - Potable Transmission Waterline to WYODAK

Bid Tabulation Summary

Base Bid -Unit Price Add Alternate 1

	Base Bid -Unit Price Add Alternate 1												
				COP{	Wyoming Garney		SJ Louis		TIC Wyoming		Whitaker		
Bid Item	Description	Quantity	Unit	Unit Price (\$)	Total Price (\$)								
A1	Mobilization	1	LS	\$139,500.00	\$139,500.00	\$25,000.00	\$25,000.00	\$2,000.00	\$2,000.00	\$36,000.00	\$36,000.00	\$65,000.00	\$65,000.00
A2	Contract Bonds and Insurance	1	LS	\$1,000.00	\$1,000.00	\$12,500.00	\$12,500.00	\$5,000.00	\$5,000.00	\$7,500.00	\$7,500.00	\$10,450.00	\$10,450.00
A3	Traffic Control	1	LS	\$3,000.00	\$3,000.00	\$7,500.00	\$7,500.00	\$5,000.00	\$5,000.00	\$2,500.00	\$2,500.00	\$15,000.00	\$15,000.00
A4	Development, implementation, conformance, and compliance with WDEQ construction stormwater permit and associated storm water pollution prevention plan	1	LS	\$1,625.00	\$1,625.00	\$10,000.00	\$10,000.00	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.00	\$22,000.00	\$22,000.00
A5	Trench Stabilization Material	10	TON	\$50.00	\$500.00	\$1.00	\$10.00	\$20.00	\$200.00	\$24.50	\$245.00	\$33.00	\$330.00
A6	Underground Utility Line Crossing - Standard	1	EA	\$1,250.00	\$1,250.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$900.00	\$900.00	\$500.00	\$500.00
A7	Underground Utility Line Crossing - 18-inches or Greater	1	EA	\$1,300.00	\$1,300.00	\$2,000.00	\$2,000.00	\$1,000.00	\$1,000.00	\$1,800.00	\$1,800.00	\$2,000.00	\$2,000.00
A8	CLSM Cut Off Walls	1	EA	\$2,450.00	\$2,450.00	\$1,500.00	\$1,500.00	\$4,000.00	\$4,000.00	\$400.00	\$400.00	\$2,500.00	\$2,500.00
A9	42-inch Waterline and Appurtenances - Restrained	850	LF	\$350.00	\$297,500.00	\$460.00	\$391,000.00	\$250.00	\$212,500.00	\$280.00	\$238,000.00	\$430.00	\$365,500.00
A10	Transmission Main Blow Off Assembly	1	EA	\$16,700.00	\$16,700.00	\$25,000.00	\$25,000.00	\$10,000.00	\$10,000.00	\$15,750.00	\$15,750.00	\$13,000.00	\$13,000.00
A11	60-inch Bored Steel Casing	504	LF	\$1,000.00	\$504,000.00	\$1,700.00	\$856,800.00	\$1,300.00	\$655,200.00	\$1,750.00	\$882,000.00	\$1,900.00	\$957,600.00
A12	Gravel Surface Restoration - 42-inch Pipeline	35	LF	\$48.00	\$1,680.00	\$35.00	\$1,225.00	\$23.00	\$805.00	\$8.00	\$280.00	\$55.00	\$1,925.00
A13	Seeding and Restoration	346	LF	\$5.00	\$1,730.00	\$1.00	\$346.00	\$1.00	\$346.00	\$7.50	\$2,595.00	\$25.00	\$8,650.00
A14	Cathodic Protection System	1	LS	\$6,800.00	\$6,800.00	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00	\$11,000.00	\$11,000.00	\$5,000.00	\$5,000.00
A15	CLSM Installation at Owners Representative Discretion	50	YD3	\$135.00	\$6,750.00	\$90.00	\$4,500.00	\$175.00	\$8,750.00	\$92.50	\$4,625.00	\$130.00	\$6,500.00
Add Alternate 1 Total Price							\$1,342,381.00		\$912,801.00		\$1,206,095.00*		\$1,475,955.00

^{*}Mathematical error corrected per Article 14 of the Instructions to Bidders.